
The Big Dance Logic Puzzle 
 
Mary, Shirley, Frank and Bob all went out dancing for the night. Each found a 
partner to dance with that was not in their original group. Who danced with 
whom? 
 

 
 
 
 
 
 
 
 
 
 
 

 
1. Paige did not do the Foxtrot with Frank. 

2. Shirley’s partner also had a two-syllable name. 

3. Mary found a partner with the same first initial. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 Bob Frank Mark Charlie 

Mary     

Shirley     

Paige     

Roz     
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The Big Dance Logic Puzzle Answer 
 

 
 Bob Frank Mark Charlie 

Mary x x 0 x 

Shirley x x x 0 

Paige 0 x x x 

Roz x 0 x x 


